MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

TWO DIGIT DECIMAL NUMBER fj: o
@) —0.2 x (—0.053) = 316) .04 X 86 =
w2 —0.09 X 0.85 = w2 x (—0.0021) =
333 0.7 x 1.9 = 318)  —(.006 x 0.76 =
9 —0.4 x 0.035 = 39 0.0004 X (—100) =
w) —1 % 0.037 = w0 0.09 x (—6.6) =
w0 —0.03 x (—2.8) = w1 0.008 X 0.047 =
137 0.006 X (—0.6) = 3520 10 X 0.17 =
139 6 X (—82) = 39 —0.0003 x 0.9 =
339) —(0.1 x 0.06 = 354)(0.09 x 0.69 =
30) —2 % 0.039 = 35 —(0.1 X 61 =
) 3 x (—0.74) = 560 0 x (—0.0059) =
s —0.001 X (—0.72) = w1 —9 x (—0.14) =
) 6 x (—46) = 59 0% (—9.3) =
) —0.008 x (—5.2) = 59 0.09 x (—0.97) =
315 —0.09 x (—0.055) = 3600 —0.0001 x 23 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 3

13


https://www.workulum.com

